= A
N & 0l &t A H AN A
T 20M =XNE SY3AH &AM
mE=3-.FShnl}
HMADNE 2XH
FAE HE(FNE SEIA) CHel A )
- _ _ RE]
M- B (B H) - NSAY - B Ol &F o4 %@ﬁ HRE2
ni: 5,463,903 5,259,999 203,904
s 23x 4 3,227,326 3,359,259 A 131,933
Z EE (=AU s 890, 100 56,000 834,100
el =XALS 36,000 36,000 0
301 et A= 36,000 36,000 0
12 JIEtE A= 36,000 36,000 0
QOIS =XAFS (OHE D) 4,000,000 9032 36,000
gdels Mg Kotz d A 730,000 0 730,000
401 Al HI L 2 0HHI 730,000 0 730,000
01 A& H| 730,000 0 730,000
Ogels Mg YENT X4
730,000,000& 730,000
WNAEIES 291t a4 30,000 0 30,000
401 Al HI L £ 0HHI 30,000 0 30,000
01 Al& H| 30,000 0 30,000
OYdE3s =2 FXE M AAEAHE S
30,000,000 30,000
2SFY FIUE EXXNE ALY 14,100 0 14,100
402 SI2F 20| & 14,100 0 14,100
02 BIZtXIEANYEX(0OIETHS) 14,100 0 14,100
OZEZY XA XN A
14,100,000 14,100
HEXE OHEIAIY 80,000 0 80,000
402 SI2FXHE0| & 80,000 0 80,000
01 CI2ZEXIEANYEXR (MMM E) 80,000 0 80,000
OBEFXE HEAMY XN 80,000,000 80,000
2YFXNE 2E(FXUE SE3H) 645,413 1,081,098 AN 435,685
SAHEIE 2el 263,298 663,422 AN400, 124
201 LBt Y| 46,200 41,300 4,900
01 AP 22| d| 46,200 41,300 4,900
Osty F=XH& EEYES MZE
70,000& *500H 1w *23] 7,000
OBEFANT 2FIYINL4E
1,000,000 *29JH A~ 29,000
OBEFIE LEFEZ 600,000 *12JH 2~ 7,200
OZ2EFIH 28828 S 3,000,000& 3,000
308 XX EHSOIA 160,078 123,482 36,596
11 JIEIRE =2 160,078 123,482 36,596




SN DEHEDY
N MADE 2HEA
©el: BEFXE 2 (FHE SL3H) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
ONE  Zadool 29508 288
132,000,000& *50% 66,000
OLH2E BYENT 2yus
19,755,550& *50% 9,878
OIS SYFNT 2Aue
12,789,900 & *50%*50% 3,198
OSZE0IZ BYFXE 2sa
20,564 ,280& *50% 10,283
OuE 3lstle BEFXE =&
91,500,000 *50% 45,750
OFUS LABYFINT 2y
19,860,000& *50% 9,930
OLHSH0IS BYENET +Yus
9,976,080& *50% 4,989
OMSB TYFHE +YMB(SFHSYT)
20,100,000 *50% 10,050
401 Al HI K 201 I 57,020 498,640 A 441,620
01 A& HI 57,020 498,640 A 441,620
OAAlY etdzel 89 1,320,000 *30H & 3,960
OAAE H3)ls &84 500,000 =34 2 1,500
O&EIILHl etdzel 224 130,000& = 12& 1,560
OZG=xE ME=E X 50,000, 000& 50,000
FHA HEFIHE 23 382,115 417,676 A 35,561
201 Let24d] 28,186 25,450 2,736
01 At 2teltl 28,186 25,450 2,736
OFAHI HEFIE 2LES 10,475
OFLH & XI & 100, 000& 270 1504 2 3,000
F=A=X2 15,0002 54 = 150 2~ 1,125
@9 70,000 *50H 350
g OIAM 2 63 6,000,000 6,000
O&IEItE D0OC3ld AtE =
3,300 x 150 2+ 12& 594
OdEIHE =2 574,423,200 *50%*3% 8,617
OUItHES 468-13 =X & 2 X Xt
6,500,000 » 14 6,500
O2K:Me AEEZ(ZES10-158%2 32 X)
2,000,000 » 14 2,000
307 glz2tol & 350,399 317,943 32,456
05 RIZHRI & 3 350,399 317,943 32,456
OFNX HBEXNE Fg@el 242
350,398, 150& 350,399
308 XX EHSOIA 3,530 4,283 AT753
07 IXNHMAR S = 3,530 4,283 AT753




2A NS
A 4D E 2l
S BYFHEY 2Y(FNT SEIH) CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZEFNBEAN Y SERAE+ P2
3,530,000 3,530
WEEA NE(FXE SE3lH) 1,691,813 2,222,161 A 530,348
NSy Lt 19,900 129,900 A 110,000
201 Let24d] 3,100 3,100 0
02 =24l 3,100 3,100 0
OgRE tz2el 3,100
28 = 269,880& »10H 270
- A& XAl 70,0003 »1CH 70
SN 230,000 1CH+12& 2,760
204 MR AH| 16,800 16,800 0
03 SHZ=RFHI 16,800 16,800 0
oug st 50,0003 28 «12& 16,800
FoctEJtet 2 153,294 324,462 A171,168
201 Let24d] 123,294 156,462 A 33,168
01 At 22l 35,286 40,614 25,328
O=F- - &Zx ez s 19,950
CMESKAM M E 75,0003 *»908f A 6,750
- ZEH EU 220,000& 448 153 13,200
OS2 &E3tHet | X 15,336
- 20149 Al XS (10H) 71,0003 «1CH*123 852
- 20154 Al X+E (8H) 71,000 «80H =122 6,816
- 2016 Al XS (8CH) 71,0003 «8CH+123 6,816
cuSaEA A 71,000& 101 =122 852
02 2324l 88,008 115,848 A 27,840
ORQct=3thet 012 204,000 128 2,448
OFF Xttt UL AAE AHUSH AHE
2(RESTegazd) 30,0003 x132] & +12& 360
OCCTV sS4 HE(E-PON)MEIA 0IE=E
100,000& +382| & 123 45,600
= X QABAE AEEXAM LS REZ(
M) 300& 11,0000 123 39,600
401 AIEHI L 201 30,000 168,000 A 138,000
01 A& Bl 30,000 168,000 A 138,000
Ol &&3thet ol ™ & XH|
10,000, 000& »3H 30,000
WESAHFMAIEE FHI 547,200 564,040 216,840
201 et 7,200 6,040 1,160
02 23=2gHl 7,200 6,040 1,160
OOFZEZD1 5 dIIZ2 10,0003 604 2128 7,200
202 O4dl 12,000 0 12,000




SA: DEHFY
HH: M7
=

Sl DEHF N (EINTY SE3A) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
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OQusS=E0 I 20| NSHI=Z He
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401 Al B 2 0HHI 528,000 558,000 A 30,000
01 Al&H| 528,000 558,000 A 30,000
OnNsSAN&EZ2 &H| 100,000
A2 WEAEZE EHH| 30,000, 000& 30,000
SEIIZAIE X L HH| 70,000, 000& 70,000
OB ot2EZD| &1
5,000, 000& 100 A 50,000
OXNEMEM S 300,000, 000& 300,000
OHASZE & 73,500
HAS2ZE &X 10,000,000& x7JH 2~ 70,000
HASZE B 700,000 x50 2 3,500
OXNEHAALEZE HHl S 4,500,000 4,500
=Y = 83X o= 293,702 541,721 N 248,019
101 @121l 149,166 368, 889 N219,723
04 JIZtHIZ22XNSES 149,166 368, 889 N219,723
OR0 ch=3tet 29 ZREX(USAEA) 50,839
- 0124 H| 71,8403 x2H %249 35,777
=Xt 71,840& 2 x52 7,472
- A Xt 71,840& 2 x 12 1,725
=0z Eg 2 44,974 ,000& *4.5% 2,024
- 20H2AEEEHEGZ 44 974 ,000& *3.23% 1,453
nggged=a 44,974,000 *1.5% 675
SRR 44,974,000 *0. 9% 405
LRI YBE 23
1,453,000& *7.38% 108
SXELOE 300,000& x2H 600
HEAMAHZ 300,000& »2H 600
O=2Y = - EXNEANMAZ =20 98,327
Ol 24 H| 29,225 *16Y x200L 93,520
MHEEEHEZ 93,520,000& *3.6% 3,367
I =H s 90,000& 16 1,440
201 Bt A | 75,336 89,112 N13,776
01 AP 2t2l bl 33,892 47,668 N13,776
OFEXEE SXNLSEAAE SXNES
410,000 x12& 4,920
O NS AMHIA 2toldA 2
368,000& *8IH &~ 2,944
OFXes F30E M 80& *20,0000H 1,600
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2N DEHHY
MM MANE 23tx4
Sl DEHF N (EINTY SE3A) (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 28,180 28,180 0
OzF - dX=2iE Mt Ba 28,180
- DXM O HE 85,000 *602 A 5,100
- ASEXNA HME 85,000 x40 A 3,400
CHEssE OME 85,000 =180+ A 15,300
YRS (HA) ST LUK
3,000& 3004 900
STEH EY 190,000& 124 2,280
T2y &Y 200,000& *6H 1,200
02 352494l 172,989 159,114 13,875
oREz 172,989
DXM(SIN) 2,130& x40, 0000H 85,200
S=A(EAM) 330 %35, 0000H 11,550
AEEINAMA(E2E) 330& *x29,8000H 9,834
HEsS=XH(9AM) 330& *33, 00001 63 65,340
Mab e=2(0) SXNM(SI)
2,130& *5000H 1,065
202 04 d| 3,600 3,600 0
01 2L Y| 3,600 3,600 0
OSAIE =AtE S 20,000 *3H x5 x 122 3,600
207 A OH | 19,800 0 19,800
02 & AR Y| 19,800 0 19,800
OREE2Y L X XS 22lAIAE 2
2! 19,800,000 19,800
303 EZAZ 5,000 5,000 0
01 ZAZ 5,000 5,000 0
ONMYEAM 23 500,000,000& * 1% 5,000
NSk SE8HsE I 18,970 40,799 N21,829
201 LEr2 Y| 17,890 16,068 1,822
01 AR 22l ] 3,792 3,242 550
OXNsx sSSdHso AX s =24
8,000 x4H x3L x 128 1,152
OoHsmdxas+s s 7Y 150, 000& *1JH 150
OHSEHYEEE P2 300 *300H4 90
OXNsSxHEEHSHAR ALE=E=
80,000 x10024 *30% 2,400
02 332494l 14,098 12,826 1,272
OADIEEZ 0182 45,0002 *1CH*x12& 540
OogeE xhzEkzel 5,150
g8 = 500,000& = 1CH 500
A= XHAI 350, 000& «1LH 350
SHIAMNAHARE S 50,000& = 1CH =23 100
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2N DEHHY
MM, dADNE X4
Sl DEHF N (EINTY SE3A) (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ORaAZXNAIE (s22U) &X
100,000,000& *1.5km 150,000
ol 5l gl 230,646 50,000 180,646
801 0l 5l Bl 230,646 50,000 180,646
01 Btal bl bl 230,646 50,000 180,646
O oyl bl 230,646,000& 230,646
HHSHHH(nSHE ) 2,236,577 1,900,740 335,837
PIHSAY|(F=XE EESIH) 2,115,665 1,772,368 343,297
ol 2A | 2,115,665 1,772,368 343,297
101 @121l 2,066,585 1,721,248 345,337
01 2= 1,639,536 1,684,951 N45,415
Od=2Ma(1Y) 84,852
52 84,852,000& 14 84,852
oJleas 1,044,600
- 63 3,968,000 x9Y x12& 428,544
= 3,126,000 x13&H «12& 487,656
- 83 2,140,000& x5H x12& 128,400
odz2+=g(1,7€) 85,980,000& 85,980
OANZte 282 131,394
- 63 11,610 *8H *37 Al 2tx12& 41,239
V= 10,4802 10 *37 Al 2+ 128 46,532
- 83 9,410 *5H *37 Al 2tx 12 20,891
CBE(FAHERA)
11,6103 x 15 »44 A| 2+ x 122 6,131
T2 (FREERH)
10,4803 *3H *44 Al 2+ x12& 16,601
OFLZ2L2L (FTQEA L F2 . 25U NE
X&) 93,290 *10 x12& 11,195
OFH Y 93,243
tEs4 32,160
- B Xt 40,0003 x22H x12& 10,560
- JIEF 40,000& x40 x12& 19,200
- AU 0l & 100,000& x2H ~12& 2,400
PNEE RIS 9,366
-1NSstu 468,300 *5H 43| 9,366
H2=YOHa 30,960
- 254 0] &t 130,000& *10H x12& 15,600
- 208 Ol & 110,000& *7H x12& 9,240
- 154 0] &t 80,000& *3H x12& 2,880
- 108 Ol & 60,000 x2H x12& 1,440
-5 Ol &t 50,000& *3G x12& 1,800




2A NS
M HY2IZH(nsdF )
Srol: ol Yyl (XY SBa) (el @)
SA - BB B () - MM - BES Ol &t o San HmEET
Hesed +2
1,044,600,000& *4.1%*1/3 14,277
JlsdesY 2,040
-6, 72 30,000& x5 128 1,800
-8 20,0003 x1H 128 240
Jsd8sg Itz 20,0003 x6H 128 1,440
Qagese 50,0003 x5 128 3,000
O A A 130,000& »28H «12& 43,680
OZEF Il 1,044,600,000& *1/12%120% 104,460
OHIE &Hd| 1,044,600,000& *86%=*15/360 37,432
Osltsd+¢ 900,000& *3H 2,700
02 JIEt& B == 39,085 36,297 2,788
OHSETHII AL HAINIHMOZ)(1Z) 39,085
A= 28,465,000& »1H 28,465
SAZtIZR =Y 8,357 <10AI 2t 1H <123 1,003
CIESY 960
- B Xt 40,0003 x1H 128 480
- JIEt 20,0003 x2H «128 480
g2l 109,370 x 1« 12& 1,313
tHerg sl 43,7503 x 18 +128 525
M Z AlH| 130,000 x1H «12& 1,560
-2 1220 %20,000 +7/8x 1Y 128 2,520
- GOHE &I 7,890 x98Al 2t 1H 774
- UAZIEE R2E3 28,465,000% *4.5% 1,281
- UEBE RE3 28,465,000& *1.5% 427
MHEE 23 28,465,000 x0.9% 257
03 RIAHAAZ2 2R 387,964 0 387,964
OusSgad 2I| HA2ZXH(13F) 387,964
2= 2,020,5403 x13¥ x 123 315,205
SR =) 12,480
- IIEE (R A 40,0003 x 13 128 6,240
- tE =2 (J1EH 40,0003 x13H 128 6,240
Sl =AYl 41,294
- JHgAY| 130,000& «13H 128 20,280
- EF O 2,020,540& »40%*23| 13H 21,014
A3 1,595,720 *50%* 13 10,373
- NHEEHIE R 468,300& 43| «3H 5,620
ANHEHSHEZ2E (18 23 2)
156, 100& *500 & »3H 2,342
cxl = 50,000& x13H 650
204 MR AH| 49,080 51,120 A 2,040
02 22 =4 49,080 51,120 A 2,040
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X ZH -
L= B

el

IME=go )
HY2LZH (nSHE L)
QH2HHI(FAE SE3H)

SN FE - EA(SA) - MRAY - BES il Bl RE2
O&z x| 49,080
- 55 250,000 1 3,000
- 6= 155,000& *9 16,740
= 140,000& *13 21,840
- 8= 125,000& x5 7,500
28Ul (=XE SE3IH) 120,912 128,372 AT ,460
JlE&l 120,912 128,372 AT,460
201 ¢er24l 20,832 20,832 0
01 At 22l 20,832 20,832 0
ORM2E =2t 10,080, 000& 10,080
OJlege+8 Sl 10,752,000& 10,752
202 O4dl 94,080 94,080 0
01 = LH 4 Hi 94,080 94,080 0
OJlege=8d ol 280,000 »28H «12& 94,080
203 YR =& 4,800 4,800 0
04 FN2ELRZ=TH| 4,800 4,800 0
ORAN2EYE=4HI 4,800
204 HR=HAH| 1,200 1,200 0
01 MR FH 1,200 1,200 0
OXMgHR=HHH| 100,000& »1H «12& 1,200




